Invited Talk:
Fragmentsin Information Packaging

ENRIC VALLDUVI
Deptde TraduccioUniversitatPompeurabra
enric.\allduvi@trad.upf.es

Papersoninformationstructureoftenmalke useof question-answepairslike
(1) and(2) to illustratethesententiapartitionbetweerrheme(focus,new info) and
ground(theme presuppositiongld info, topic):

(1) a. Wholikesbeer?
b. [r JOHN][g likesbeer]

(2) a. WhatdoesJohnlike?
b. [c Johnlikes][r BEER.]

Theideais thatthe questionis the exponentof someunderspecifiedlescrip-
tion in a context or informationstate.In (1a), for instance aninstantiationfor the
experiencemparameteis needed.Therhemein (1b) is the structuralelementthat
"answersthe question”in the sensehatit expresses valuefor this uninstantiated
parametemwhile thegroundsimply expresseshepiecesof meaningn thisdescrip-
tion thatarealreadyavailablefrom context. Let uscall the piecesof meaningthat
malke a contritution to context the "update(potential)” andthe piecesof meaning
thatarealreadyavailablein contet the"base”.

Thefactis oftenneglectedthat(1b) and(2b) arenot discourse-naturanswers
to (1a) and(2a). In fact, the mostnaturalanswerdo (1-2a)arethosein (3) (and
alsothosein (4), seebelaw):

(3) a. JOHN.(answelto (1a))
b. BEER.(answerto (2a))

(4) a. JOHNdoes.(answetrto (1a))
b. HelikesBEER (answetrto (2a))

A full accountof information packagingshouldtake this dialogicalevidence
into account. The differencebetween(1-2b) and (3) on the otheris clearly not
in their updatepotential. Still, we needto accountfor the factthat (3) is a more
naturalanswerto (1-2a)than(1-2b).
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The proposaldefendedhereis that the differencebetween(1-2b) and (3) is
in the natureof the base,namely in the accessibilitystatusof the base. In (1-
2) theimmediate explicit questionanake the basefully accessiblat the time of
utterance so a groundis not needed. This follows from a view of groundsas
contet-anchoringelementsThe groundis the structuralexpressiorof a base put
suchexpressioris only neededvhentheanchoringof theupdateto a givenbaseis
not self-evidentat thetime of utteranceln question-answesxchangeswherethe
baseis fully accessiblérom context, groundsare superfluousthis is why rheme-
only fragmentutteranceswhich expressonly the update aresocommonasdirect
answergo questionsOf coursethe groundmayberedundantlyusedasananchor
in contexts whereit is notneededbut this oftengivesriseto secondarynterpretve
effects,sometimedriggeredby theviolation of Griceanmaxims.

Whatwe needs atheorythatallows usto establistsomenotionof accessibility
for propositionatlescriptionsn context, akinto thenotionof accessibilityassumed
in accountof anaphoraesolution.Groundsareunnecessary/dafored whenthe
baseis within somelocal attentionaldomain:thelink betweertheupdatepotential
expressedasrhemeandthe basein the context proceedsasthe resultof certain
default dynamicsof dialogue.However, groundshecomenecessarywhenthebase
of agivenupdateis outsidethis local attentionadomain:the unificationof update
andbasecannotake placewithouttheexplicit anchoringeffectedby theground.In
asensethen,rheme-onlyfragmentsareto rheme-groundgentencewhatpronouns
areto full definitedescriptionsn atheoryof referentialaccessibility

The answersentence (4) above behae morelike sentencdragmentsthan
full answerswith respectto information packaging(their dialogic distribution is
closerto (3) than(1-2b)). Clearly, theexamplesin (4) arenot syntacticfragments,
but their behaior is accountedor if they aretreatedasinformationalfragments;
in otherwords, the answersn (4) do not have a ground. The weak pronounand
the verbal elementsthat appearin (4) arethereexclusively for morphosyntactic
reasonsaanddo not carry out the anchoringfunction thatgroundscarry out. This
leadsusto proposeoo that(5b) is asmuchof aninformationalfragmentas(6b) is
(although(5b) is obviously not a syntacticfragment):

(5) a. How doeshefeelaboutBill?
b. He LOVEShim.

(6) a. WhodoesJohnlove?
b. BILL.

Both (5b) and(6b) areanswerghatdo not needa groundto make the connection
explicit betweentheir updatepotentialandthe pertinentbasein context.
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